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For Part-B, the examinees shall have to choose one of the 7 First Languages (Language-I) in accordance .wxlh the
medium of instruction already selected and answer only the Questions (Language-I) of the selected medium,
Examinees must ensure that the Question Paper Code printed on the Question Booklet has been written and filled
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PART—A
Cirild Development & Pedagogpy

English Versian

) 1. Which one of the following statements is
inappropriate in reference to Evaluntion & Assessment?
(A) Continuous and Comprehensive Evaluation covers bolls
Scholastic and Co-seholastic aspects of students
(B) Diagnostic test is related to remediation
(€) Formative evaluation does not measure instructional
Progress in classroom situation
(D) Summative assessment i5 2 tool of evaluation used by
the teacher at the end of the whole instructional process

2. Teacher is not following the maxims of teaching
when she/he—
(A) teaches humanity first, then about human beings
(B) shows the picture of dogs first, then that of bears
(C) shows garden first, then its plants
(D) helps to form concept on the basis of common
characteristicy

3. Assertion fA) : Continuous and Comprehensive
Evaluation (CCE) solely focuses
on academic achievements and
examination results,

: CCE incorporates boih formative
and summative assessments Lo
provide a comprehensive view
of students’ overall development.

Choose the correct answer from the options given
below:
(A) Both(A)and (R) are true, and (R} is the correct
explanation of (4)
(B) Both (A) and (R) are true, but (R) is not the
correct explanation of (4)
(C) {A) is true, but (&) is false
(D} (A} is false, but (R) is true

4. The learning associated with computer literacy

Reason R)

training is—

(A) Associative learning (B) Concept leaming
(C) Procedural learning (D) Factual learning

5. One of two learners of same class obiained 45 and

the second one 20 in the same test of same subject. So we
may say—

(A} Second possesses twice the skill of the first
(B) Second’s knowledge is twice that of the first
{(C) Second got hall the marks of the first

(D} First got 45 marks less than that of the second

6. Which one of the following is the most suitable for

storytelling to the learners of class I?

(A) Drawing pictures on the board

(B) Asking questions to individual learners
(C} Using voice modulation and gesturing
(D) Asking learners to listen attentively
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7. In the revision of Bloom’s taxonomy of instructional
objectives in cognilive domain, the included and replaced
items are respectively—

(A) Animde, Understanding
(B} Synthesis, Valuing
(C) Synthesis, Creating
(D} Creating, Synthesis

8. According to Bruner, the stages of learning in
increasing order are—
[A) enactive, iconic, symbolic
(B) symbaolic, enactive, iconic
(C) iconic, symholic, enactive
(D) preoperation, enactive, iconic

9. II List-1'is matched logically with Lise-[1, what will
be the correct option among (A}, (B), (C) and (D)7
List-T List-II
{Levels of Teacliing) (Learning Quicomes)
(a) Memory Level
(b) Understanding

(i) Assessing own learning
{ii) Recalling and

Level reproducing information
(c) Reflective (iii} Establishing the cause-
Level elfect relationship
Codes:
(a) (b) (c)
(A) (i) (iii) (1)
(B) (ii) (i) (iii)
€ @ Gy )
(D) (i) (i) ()

10. In Maslow’s hierarchy of needs, self-actualization
is analogous to—

(A) extrinsic motivalion {(B) need for achievement
(C) reward and punishment (D) intelligence

11. Deficit based approach in inclusive education is
discourageable, hecause—
(A) itallows teacher to discard the weakness of the learner
(B) it allows teacher to eliminate learning-teaching
malerials as per necessity
it does nol empower the teacher Lo give due importance
to the learning ability of the learner
(D} it empowers the leacher W emphusise the learning
ahilities of the learner

(©)
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12. A child is repeatedly dj i
. y dismantling her toy gun and
I'E'P"-‘ﬂlt'l‘—dl} assembling the parts for learning -lngmnk; a
clnr‘np_cle toy gun, '-'!’hif.']l two of the given four learning
theories are mainly involved in the process?
I T h-nrndikr: (LI} Pavlov
(ILI} Skinner (IV) Koffka & Kihler
Cl:]]l’!ﬂ'l.‘ the correct option:
(A) (1) and (I (B) (II) and
) (111
(C) (11D and (V) (D) (l)and [I\a’}}

13. For an individual learnine i
W ning, the unnecessary item
(A) Immediate feedback

(B) Criterion Referenced Test

(C) Norm Referenced Test

(D) Cueing

14, A teacheri i . 2
of a child while reagins s difficulty in pronunciation

b callad_ reading English prose loudly. This may

(A) Assessment of learnin
! i g (B) Assessment for leamni

(C) Summative evaluation (D) Diagnostic t.fsstrinegm-mng
dlS. According to Kohlberg, the level of moral
evelopment, in which an individual judges morality in
terms of abstract principle js— ’
(A) Pre-conventional (B) Conventional

(C) Posl-conventional (D) Both conventional and

Post-conventional

16. Match List-I with List-1 and select which of

(B), (C) and (D) is the correct matching. -

L_;‘s:-.l’ List-1T
{Learning phases (Features)
as per SE model)

(a) Engagement (i} Learners delve deeper into
the topic, make connections
and apply concepts to real-
world scenario

Hands-on activities and

participation in enquiry to

(b) Exploration (ii)

strengthen learners’
undersianding
(c) Explanation (iii) Attention-grabbing activities
to enconrage learners’ interest
(d) Elaboration (iv) Judging learning outcomes
(v) In-depth discussion of
concepts and theories Lo
provide learners with
foundational knowledge
Codes:
(a) (k) (c) (d)
(A) (i) (1) (iit) (iv)
(B) (iv) (iif) (1) (v)
(C) () (i1} (v) (i)
(D) (i) (ii) (i) (v)
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17. One of the major ohjectives of microteaching in
Teacher Training Institutes is—
(A) to give an idea of teaching skills
(B) to give the concept of repeated teaching
(C) to master the subject of teaching
(D) 1o integrate the skills of teaching

18. Nateh Lise-T with List-I1:

List-1 Lisr-I1
(Coguitive Development {Descriptions)
Coneepts)
(a) Schema (i) Modifying existing mental

structures to incorporate
new information

(b) Assimilation (ii) An organized pattern of
thought
(¢) Accommodation (iii) Achieving cognitive
balance throngh
adaptation and adjustment
(d)} Equilibration (iv} Fitting new information
into existing mental
struclures
Which of the four options is correct?
Codes:
(a) (b) (c) (d)
(A) {i) (ii) {iii) {iv)
(B) (iv) (ii) (1) (iii)
(©) (i) (iv) (M (iii)
(Dy (i) (iv) (iii) (i)

19. The relevant question corresponding to reflective
level of teaching will be—

(A) Explain the essential differences between a cat and
a rat.

(B) Whal is the past tense of the verb ‘come’?

(C) Describe the geographical location of Assam,

(D) Had Hilsa fish lived long out of water, what would
be your explanation?

20. Which of the following statements does not match
with the concept of pedagogy?
(A) Pedagogy is related o the needs of the learners
(B) Pedagogy is indifferent to the context of cultural
influgnce
(C) Pedagogy changes with the change in the curriculum
(D) Pedagogy is evolving in nature

21. The students of a class could not complete their
answers during class hours. So a part of recess was
curtailed to provide more time. This is an example of—
(A) positive punishment (B) negutive punishment
(C) retroactive inhibition (D) negative reinforcement

Bengali Version
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22. Matceh Lise-7 with List-I1:

List-1 List-ii
(a} Sell-esteem needs (i) Shelter
(b} Self-actualization (ii) Meaningful
needs relationship
(c) Safety needs (iii) Realizing one’s
potential

(d) Belongingness needs (iv) Refrain from anxiety
(v} Recognmition from

others
Now, choose the correct oplion,

Codes:

(@) (b) (c) (d)
(A) (i) (ii) (iii) (iv)
(BY (i) (1ii} (iv) (i)
) ) (iii) (iv) {ii}
(£} T 4 (iv) (ii) i}

23. Consider the following statements about Bloom's
Taxonomy of Instructional Objectives and Learning
Outcomes:

(i) It categorizes learning objectives ranging from

lower-order thinking to higher-order thinking skills.

(ii) Thelowest level of Bloom’s Taxonomy is “Creating’,

which involves generating new ideas and original
concepis.

(ifi) “Analyzing’ is o higher-order thinking skill in

Bloom's Taxonomy that involves hreaking down
information into parts and understanding

relationships.
(iv) Itassessesstudents' memorization skills and factual
Knowledge. 3
Which of the four options is correct?
(A) Only (1) (B) (i) and (i)
(C) (i) and (iii) (D) (i), (i) and {iv)

24. When learners try to think within the given
information, it is called—

(A) Conerete thinking {B) Abstract thinking

(C) Convergent thinking (D) Divergent thinking

25. The rules for when and how to vse language in a
particular culture is called—
(A) Synlux (B) Prigmatics
(C) Phonetics () Semantics

[7]
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26. Consider the following statements.
(i)
for all individuals.
(ii)
(iii)
biologieal poatential.
(iv) Development is solely influenced by heredity.
Which of the following options is correct?
{A) Only (i) (B) (i) and (iii)
(C) (i), (iii) and (iv) (D) Only (ii)

27. Which of the following is assumed to remain same
up to a certain period of human life?
(A) Mental Age (B) Chronological Age
(C) Intelligence Quotient (D) Body height

28. Child’s inability to understand a situation from
another person’s point of view is called—

{A) Object penmanence (B) Centration

(C) Ego-centric thinking (D) Transductive thinking

29. List of experiences:
(1) Dramatized Experiences
{I1) Demonstration
(I1I) Contrieved Experiences
(IV} Direct Purposeflul Experiences
According te the Cone of Experiences of Edgar
Dale, the topmost four experiences in ascending order
are—
(AY (1), (1), (T, (TV)
(I3 (IT), (1L, (I, (1V)
(C) Iy, (1), (ELI), (1Y)
(D) (V). (I, (1, (1)

30. Which appreach is inappropriate to Constructivist
views?

(A) Discovering somcthing from empirical
engagement

(B) Cooperation in group learning

(C) Provoking to acknowledge multiple perspectives
of an objective phenomenon

(D) Memorising a singular interpretation

Developmental milestones are fixed and identical

Growth is influenced hy heredity and em'l'rnnm_rnl-
Maturation involves the unfolding of inherited

[8]
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G- T PR Colle! Calrl IR JRITS | e R
fRtA-aIcs e wew, o wfd cim & wie ars | sum-sem
&N (T = W= FteT, 72 ST g-=11 sra-#fm e cerd
CRTHT e 6T (WeeTRIHs <18 |

wm-frg ofern Bive-w1-Cors e ore, aTwa T8
TATG-aH TE wEele AR S A EEE Ao s
o|oElG YR T AbTYS @eEe; (e ReE-uEE
4%, (SIEAETETE BA, FSTI (2T, grila 30 | #i0e 19 9 fom
T BIF 21T T S A A, v o AP i, TR
wrs oy e <= 2, Ve faffml, foms #ifd gae;” s faivan,
BiCEEGle T’ e ffut oofl, 5, D, WChEhle (4 e (il [
wrhrefea famra o2 | i < mb! A SrS- - S
5] (BT, I 2 | (e (FATS 4 BT A0 et S
aE Szl Fisd 2iee for-cereil At Sifem |

forsy feiby e | 9-907 @-U0a (S i 67g, G
5, 78 e ceea e, = SRR 20 el W

oS A S R (N 7gE A ieaeE i
— s 2w fore | wira g FreTa @ (R AW G| S,
CUTE! CIYeT W CHGTE gl T FLE0! i Al HUR 0 | 5
i (UTE TITHA S | &g WO IS TC7 UL S0 (i1t
CvifRl 2 fa— o WA, 909 A | .

A0T] %0 GET FAgrA— 1 B, ¥ (AE, T o)
e o TS e @Al T AT &F1 Ol AR W |
(TS B T TACEA St e, e e hiE | M e

(o1 AT o/, FEEiTes o, ‘e s e 1 | U Sein

e e R iR cfF A e, eliiE o el
wﬁﬂa'zc:aﬁmarrﬁm <G & THA-29E- (A 98 cUEiEe

Eﬁﬁtﬁmmﬁaumwm,mmm:

31, wE I E—
(A) T (B) T=f2
(© = (D) T%
32, *wifep-fotha AR Prarea o2a o clem-,
TR e Ay 5 T e )
Tgetare ‘#Zer AT wd—
(A) #rms (B) CAI#MA
(C) ==l (D) g
33, ‘CReTS RS A ST FATHTE Tt TU e A
frsjet Zrre Frer-caen AwaGs et
FErasifEe snbawd—
(A) W (B) ‘®fe*9
(C) @i (D) =rEm
34. =rEeE S EE A’
s et Wi =5 —
(A) wfEel (B) e
(C) Ang=re! (D) =
35, “femiTa wret Semyiare ¥a-fog Seivad TEE AT
TANE
el ATe 2L’ e oo Shtgad—
(A) g% (B) Tt fimmr -
(C) cifeee e (D) g ferm”
36. ‘SUew Al
AT FH A —
() Wb (B) whewrm
(C) fely (D) "
37. ‘Tafwwite w2451 fern SETe-A1-urTe wiEE @6l (e,
T gl v |
AFBCS A T5—
(A) st (B) fas
(©) 3o (D) @5
38, ‘SyerE (ATE A AR G e, I, I
T ST AR, AR, TS T A —
(A) TSI FRITS (B) wTTat RIS
(©) et TS (D) Y ERITe

39. =UrFE N @ e e wre, ool wwe
ITA—

(A) TR TS (B) caet dece
(C) csi AT (D) et tfe ware

[9]



PART-B .
Language-1 — Bengali
40. e, oy, 28, 3¢ wfES EERIRA TH—

o : Frafeie w1 =i = e euele (40 cits
45 99 2p) 7= Bua fafon w3 8

AEIT SHACS ATCAS 6= Toas]

{1 HET T, TR ot Be ww wAl-wret |
A (I AT e Ay oY

CarE EWe Site, 0 T3 T (@il ~Ee-Town
TS T ey i e wy-ae &,
- {RIC & =i e i -
=AU € +fTRIfES, @ e Frarars Be e,
TS v Tefew, e mE e
CSTefRT el 7 afew oo,
coTefRre 4f5fER “ftres 1y com,

RISTCET ST A0 SAbIes— +3)-s{ravetea |
Siffan sfeE ot srares sismeh

IS e L, A Age wi

LT -3 94 99 Fs-facs o teardll
TR 07 913 SR R o,
Wﬁﬁ'ﬂ%‘ﬂ‘mﬂﬁﬁ&?{w-ﬂtw,
TR BTae et raifers),— o, @i wif
FHOIE SRS FEUFE ST 5 wamn e
ezt gff wilifo wifm ars wefm o,
=T, SR, ST CATPIGH, S ara |

Rt ©fft wime wspret, T9eeta otk W,
WRHR STl B Bl sarsy T Fe—
T TAHHIE! SMeTRien T A |

G rEfaets 99-99 sfeta ofaf i
Tore Bfat Famwr-Freeife s Ao R
T Mo, e Feres

& WIS (PR @I @l W
Yol SR Tered Rt

Tor= offt Srares emiE gl g “=ia
- (0, —AGITA] S HFIH |

RETH TGN & (2 T1Ce, TEYH SO, SFSY,
TR A 2 G 0y W B or-wiEeife |
fafde s =g =i, cene Cits -,
eI MAreist 9ice wiz siea oo |
Fifaets, gfiers srmmes, ST |

TEIHIS THATS st o) s S |
SEAA (RS 2R eneif arasata oifF,
RS 277 Srerea e ool caeg B el
CMEITE *mrag wiEes @here aw

BLo-BLel (ALY 5 <i@ieT FHTEe- e

(A) SRR (B) ogaH

©) 9% (D) b
41. “Twim BfiF oita,—a0 O TF F0 AN1-CSewy’
‘oS!’ 9 Gl W —

(A) §&7 (B) =%

(C) =% (D) 7e%

[10]

42, “Fifaecs, $fers gy, —owrmews I
“TogiaTGeRE - eI T AMT— :
(A) THB+ T+ {+ A+ +T+T+F+T+ T+ T+
(B) E+5+Z+W+F+C+5+F+5
(C) T+B+B+TM+A+T+F+ B+
D) T+G+B+ I+ +H+C +F+E+F

43. ‘fete ot SraTSA S ~wER faga A —

B’ (o wATTa FAA—
- (A) ﬁtﬂ‘wmm (B) wjfe<ss i

(C) ATAoALT Fam (D) Sifaarnes Fars
44, ‘rerefers o «fHres yawea om,

M e i o
(A) % + &5 (B) *J& + ¥
(C) "R+ % (D) *+ 5

d5. iffem Tofa upiee writrE wiE-naw
uiteA - fRerdreteE s ge—

(A) I (B) f
(C) =iFwst (D) =ty
46. {3 T <elfivere T R 1A
AHO+A+ T+ + R
(A) B) %
C) 5 ©)

47. Trevn oD e *rar et xiw s o
(A) =rere ®)
(C) T D) &

48. Fwn afb v el 7, i ok v
(A) 3 B)
© = 5 %



PART-B
Language-I — Bengali

49. SY cflTe e T ot wrdien D
st A — K

(A) 1917 gag @Ay

(B) o% =R Frme oot

(C) = e STt =toty wom i oot

(D) =% 3 S 9191 @ oo W 41 Col

50. vy cafirs Freidfom iRerpn St crm froate
€2 ATl ot s e —

(A) = o

(B) = =ity

(C) =fa~fffy

(D) ﬁﬁmmﬁﬁﬁm

51. witse 5w careft e awa—

(A) == (B) Sd—sjeTs Bora
G — &

(C) IM—*ia (D) FB1—=s 4 ey
Ae—= BIE— AT

52, wea > E TE—

(A) A=t Sarmd (B) CaiEISaCTE SHrEEd

(C) Titear-a Twgad (D) SFEEamEE THEad

53, ‘YETHCTS ST S TE GEFEUT TA TH—
(A) =itew (B) =i
(©) =i D) AR

54. LAD-«7 =l weilt 25—
(A) Learning Associative Device
(B) Learner Acquisition Device
(C) Language Acquisition Device
(D) Language Accommodative Device

[11]

55, S wvgsfE gy @fba @@ w2 wmed, @fb e
FE e —
(A) LA LA
€ 1%5%

- (B) BLRER
(D) 3,275

56. VeI PATHA O Ve SIaTHE O S eiera iR 2E—
(A) 4 SIT=il STRaTT CFY T T
(B) 774 [AfECA =Gt BefETT 97 o Akl
(C) wffice «rer a=s FBifery =ro ea=id s R v st
=4l
(D) @ficg et gas B wet e wEeEed
TorTer et St R0

57. mwﬁ?ﬂwwmmﬁm;ﬁwww

ot i e AT6d o9 % Fara A—
(A) T (B) &
(C) oed (D) =¥+

58, vod cfeTs e ema o AT T g
T/ Frre e Swgad firem, a2 o Bom sl
A | AT TR wranTs et s o sarEm|

ara o 1 e araem warew, i 28—

(A) SETEE 5o . (B) w@icald) swfe
(C) el oiafe (D) e #afs

59. w1l GRIET BN e, w= w4 i fiw st
wATE | aera Sl qeaiEE W e w1 wrae B wfE
TS @ FET OTAT= |

O R =i st e sl wE—

{A) Adaptation

(C) Acquisition

(B) Association
(D) Leaming

60. 7= T — Aot U e FE TrE—
(A) TFIH (B) T=uisf
(C) T=mai+ (D) F=5E



PART-B
Language-I — Hindi

fadw - (31.39) Freferfan wai F wWEES e A4 Ty
WA & gt e

=i F Ara-Taan o s 39S 99 3 e &)
A € | TR THY 3 @l A Yt vee | w1l sam e
® T ¥, @ 9 A W wh e Wi ol 8 T e e e 8
AR 0 € | 37T T SEe-delt ok i s & e e
T % for med ww wau s 6 E e e e
fnft 1 g et 7 %1 BT A -we w0 B, S e
sl R smm e fagagw s G da
S | Hr= g 6 A siuny aeens o S E | arweht
Fa-vifa =ran # fas @ ¥, o 9w a0 8 sl s ew sy
T # = @ €, = fad awn = fewn 17

TS e e A o v a3 et &
T [ vea 9t ¥ | wes v 9t g = fer
T 1 Hew S e W feerc @ farferm s #1 an
Hel-Tre, Gfe-frarg fog we we audt § v e € a2
Tl HHIE 5 ge-THe W & | S SE W S e o
T ® | Wi el WO i e # age W § a9
&l § arfoes <iew =5 €1 st <iaa dm & ofe B
w1 TiEiTes wirem B ¥

HATS S YT TN TEE U ¥ SuE W 419 5
el W e A1 A g o few 6w ) s
1 o A A R e e o £ e oS O
TS T e B

31. 9ES F oTEn =i w1 sfem 5y =te w fom #7

(A) ST IyGIT I (B) @ afowa W
(C) 3T FHym W (D) S9! HeTm W
32, e w1 renfrew T 9 fen weEm W ane E2
(A) Tt (B) wifos
(C) =fi (D) =t
33, ‘mE=iE = faEm = w8
(A) Gl (B) Tt
(C), Toit (D) SHm

34, v i % ferg we SageR it T
(A) <l 7 & W SwE) o g
(B) HMEw Sfigd § ol 3rEmgmm :
(C) TT&ll WTTEeT
(D) T 3T =
35. Wi wfa @ @0 e §7
(A) TFAH (B) aTaRaR 3T SqvirEamEe
(C) T=aR (D) YT

36, GO F € SMYY TIETE WA & o —
(A) IM & (B) SWHE
(C) S & (D) HEETH ¢

37, @ &1 ferm w5 wE-4 w0 e sa g2 b
(A) Tew favam i s - (B) W&w 3R WeATHerar
(C) Tag=m #r i (D) WrEE AT e

38. Tt wateRw & ferq e weT WA e 6 T —
(A) ford ot gt o sfiea fft &
(B) frm o7 e geond favdt @
(C) fore o2 wmm Sfte Fsfle &
(D) oo ot weire @ wias fadt @

39, <@ & SrgEn 75yl f fEeem e g v §?
(A) WSS wieE & AV (B) WA Siad 9 e
(C) il wed =1 s (D) wrfas sies = a3y

0w « (40-45) Frefefan woiw = s e 7= fkg 7
oA F e e
T R E
79 T T o we g
e =g smu |
T wH AR SAl ©
e~
T Trensal I @
Ait el & A a6
g o & v wo R
o T § 2o
T S | wY ¥ HafeE &)
o o wed T
=Hife w5 W A
e usik ol
W T=ET
T B 1 B | WE | W Wi |
iR fiFt = ot dr ot aft = o
= TF 7
i @ o Sfem 7 afes een &
|

40. 47 ImEY F T Awd 2
(A) = am
(C) =T =1

(B) femga wran
(D) =<1 =



PART -B
Language-I — Hindi

41, H = A e g ¥ 51. e 3 STTufera TE S M ST, T R Y —
@) & . (B) =M (A) AT foes (B) 37 ohH H Hi & ane
(C) =T (D) T (C) T =) Frefer wfa (D) ¥ |l

42, el o o R 42 52, Frefertan 1 & Rran o e T ) e e —
(A) e (B) =&t (A) S0 TR F AW
(C) w1 (D) == (B) :ﬁa‘?q@wmm

3. s 4 s e (1) 11 3 At 8 o e
(A) Tewm < (B) =fewrs =) T
(©) =T (D) &t s 53, freres o @ w e e W 82

: (A) @ < T = geet

£k = (B) ol i it
(A) mdo & § (B) Y& er ¥ () o T T
©) FEAFEE (D) TR W # (D) ot g fe e faf ST 0 g

. ;1?1:;#%_ n——— 54, T Foem 8 v W w0 @ falw ® —

(C) w17 D) Fift (A) wrr fafl (B) =g fafu
(C) s fafy (D) wuer= fafl
Fdw: (46-60) Fr=fafes weit & wwdi 4 wr-=r faweq ((A),

(B), (C), (D)] few 7w & 137 | Wl foahey =1 =99 Hifag | 55, T W =ewiiis 7 e W € —

46. e ST T T Y T, A e — (4) wmymmery @) “"‘Eﬂ;wﬁ
(A) e = o (B) it #1 war (€) g (R0 o
(0 S S 56. YE TEARL T FT ¥ —

47. HEG-9E ¥F oy ¥ g e @ =iy — © . (A) ST (B) wEeTIE F W
(A) =wmEg-uia 7 fax anf 7 fEr seg #i sl w5 (C) eHE T AT (D) WEVER S ST

e

() S A 57, s sn-Fre # gt W wd fw § —
(C) B 0T =it (A) v o @) i
(L) S (C) “muif=aH (D) wiafag=

48. =ER fagw 9 Fa-g fafy whm 9 weEm wome W _

aria §7 . 58, 5EA @ WF- wonedt s fge # enfiver 7@ #2
(A) wrEu-gw [t (B) wn wed fafi (A) TE-TEE SRR (B) Fme s
(C) 8 3 HE (D) e fafy (C) ST e (D) er yoEh

49,

Sni

merfis T 9T Tl e S8 E —
(A) aifvsafa & i = e H
(B) EFER-TEAT & 37T

(C) HIT o Wid 5T T

59. o i Ful AR FE § 98 99 9 =9t — T we
g ¥7

(A) Ty 2 (B) Werm T

(C) =& R e (D) THTFEH

(D) HeTd
s = fare & siarta g 1 o & — 60. ~resh- eyl w0 TRRT & —
(A) wegde S9 (B) 'ﬂlﬁff_t'““ (A) vaEfy=fag (B) =am=m

(C) =7y v (D) Hferan T2 (C) afa-faam (D) sEd-frea
(131



PART

-B

Language-I — Oriya

AeRige airad a@ 31 @ 39 adis gggean aas
Qa |

AABIFIEE GOUAIF AUER FIRRUIAIR
deRes 0GREe 6eGR | aerql, geiel 6
RILNIS N2IG IERIgH FREeRE | RETiR a1 8
2IBTRVIR LRIIEE AIR°S FIIGI GAEE G Y
GERRdIaR | 416 6 21949 6| TIHER 6919 | AFERER
29919, Q622 8 F0RIA QLR 01 6a8 AP | Ao
B Fienl s el geaag OF R1esa 67 Aeq eoey
a2l 90 QA9 Q30 9RAIGA @I | 621 A48
AR T UM | 2RIR {6 90 |39
gil | 92919 eaRIa Q69 2IF AR, 8Y 99 @
QLTNQ QRC! | I 8 ARANT IRER ALY LIASL]
94 | 6998 Q¢ 999 6208 TR ARG | §F 6A99
ZYRNIOG 69T FEYEII gT 21y 9EN AIRTRS!
g% 9Qf Qa9 | 49 anee LU9iee Qa6
6280 @9RYe FEQ @60 | 654 TEEYR IR Faa
QA QIS NG 629G 961 6291 053 |

31. “G0" & 68T AAYe TGN 07
(A) QaF (B) 9Q¢]
(C) ARSI (D) 69%& @ g6%

32. g9 49IQ a0 YIRS 6TINARS ?
(A) B9 B ZISERT 9FER  (B) 219 AIFe 9RER
(C) fea &d gial (D) RIS AIMNG 9B

33. "geeRIgET” eta QUYD AFQd QIS |
(A) QSR + Fef (B) 968 + QG
(C) 9%6R! + @&l (D) 966 + Fen

34. QEIGQ RIEl @4 ?

(A) QRQ1 AQY GER!

(B) A&l 0IQ GEAR AT

(€ 8Rgia 6 26ae g& Ao 629
(D) RO TRl o @GR

35. 6361 QOGRR G QAR AITEA RILI® 2
(®) AIRTRG! 6 6eaRd (B) 27 AREN 6 §9gaR
(©) 916 6 2104 (D) RN 8 21800

36. “g6RIR" 0QG6Q 604 QAQT A°CAIFS ARG
G212 |
(A Y (B) 9gll
(C) &% (D) 9%
[14]

37. g9 AAIQ FRSQ 6REE 960R AIRE 7
(A) QISLIQ FBE! (B) 230°S SRRIIS!
(C) @694 59 (D) 2GR LGERE

38. g9 9AIeal aaeesa F]_"E!'i RURE @6l ?
(A) 212 6 2IQE ‘R‘lﬁ‘@l (B) =lalalglalstalal]
(C) F1LEIGIR gaeee (D) 2E°S! gl G LA

39, “QI289" 604 ARG 9 ?
(a) §ega48 (B) AU
(C) G6aY (D) AGRIE

FoRge acyrate aF 40 @ 45 958 94 aeR 7 |
A7 AI0 NG A I LQ6E
A6 IR GOFE6 89 906
FI9E I A8 AY CRIT'RR ISl
olg Q2] 6RImaIB & 299I1R |
Fayl IR 61PN dF 918 g8
98 Q0 AQ2IN € 954 g8
AEG G106 et QIRIe §9Ia
eIg Fikl 6QIR2IE 26 29014 |
qad 204 74 TIg F6R AR
RES BG2IN g AT T
FEIIG 69N B QI9l UL
BIg Q¢ sqImaIE 26 2IRTIQ |
@716 69 U QIR Gl
S9N 6715 U681 Qaga ¢lel
WL FAVIR AAYSLIQ)

GIg 71l 92213 261 290ia |
o24I0 c21RaIN R gAIaeR
S9Q G99 QY 218 R B6Q
64T QAR 98 601 QFIQ
QI F1l 6IRAUE 2161 21001 |

40. 55 929 FFGER FRIQ 67610 YEINIER TeamaG 2
(A) @ﬂ@l (B) @2IR
(C) Felig (D) 98



PART -B
Langnage-I — Oriya

41. F6ElI9 AUQ 696 — “ioe

R — - i G
WIS U°9CR 2elg geie oE 2 M
(4) @8 O EAIQ QIR QUER FER 99E

(B) W& @ eRIsq gl
STIQEIN diE Rie e aIe ag4d

(€) AL RS AN
Ggela

(D) &4 A8 A8 61" QI QEiRI |QelN

42. UARTE QIZIPIA GRITS 6201 8l 98 aBgs 2
(A) &@

ERiee Mddq °Gal e gidal

o (B) @&

(© &Gl (D) 6RNGAT Ged

43. "206A-98 0961 609 Toda 5% 62RE o5 |
(A) Q961 Fa8 (B) 991 308

() §e121 Y9 (D) 9921 Y0

44. 9°T0 RTQ1 A0R-TI0R QG sad
621921 Qg — ¥ e

(A) go48 QRIFER Q18 999l RIS andsn
FRQ AEVDT QRIS o

(B) 4 39 QALIA 4 91 AAFEE ANL°G KEINSI
(C) SA0IQ AYUEIID RERI AR ANAE 699
(DRIFINSIENIEG ANRER QUYS AR 64

45, 5¢) 9961 698 QAIE GF1OIS 6RIR AITESR R8I ?
(A) MR QK 2R4Y RITE F4S!

(B) 69199% QOIRRIg QUG LSl

(C) RYRIR 9g Y BEURNIFS FEANY 98 JIe aRa!
(D) g9° a0iq 9719°q AFHER RALTF F6

46. 65168 QY @8 GIa A8 9R6a ARG I @4
zieaye ?

(A) REF RAXQE (B) UIRIFR AL YRR
(€) 548 6 G6aaN Ta @891 (D) 2Iges a2 Ay S8e)
47. FIgQIAl 9 60 80g 213 FaIRIe QA8 ?

(A) BRI 297 (B) 56 BIR0 999

(C) QIO geea 96 (D) A0 Q8@ 299

a8, ARG diIRag A g9 B8 AIPNIS AHQEE
@6 QIE29?

(A) QB @9 (B) smgm

(C) G (D) AITEY

49. 6RO 32°06 gfaw Q6< ?_

(A) @d (B) ¥%'

(C) 68190 (D) GGl

50. 626 @da AIgI QI ?

(A) & (B) &l
(D) &

(C)d

[15]

51. gl2fie 9968 RIGI Ag6a Al0IGAER 6RET T
QEIQIRE ?

(A) Mo gGae (B) 80 g6

(C) ¥o g5 (D) 9o GGHS

52, gleifie 2A6a TI0IGAER 696 JUG AUEA IR
q9¢ GaIQIRg ?

(A) QIF (B) 9&@

(C) EIR (D) AIIGE TR

s3.qQesa demAEeaged?
(A) 9188 93 48! (B) A'ERRR 98 9G
() 6997 FaIeNgd /G4l (D) QIR 9B |

54. 60910 2€I4E FaIRas QAIG §6< ?
(A) 2GR QYLRIG (B) @RIF 6819
(C) @8 909 (D) R

55. "gaQICaIRT” ava 21d Q& ? )
(A) SE6 QFEIR GRIe  (B) 991 CRAISRI QM
SR

(C) TG IS TR (D) 6ARS QRE QRS

56. 944 9¢la Y& QEa 60Q Gia A7 aGFe ?
(A) "e" Q% (B) “@" Q%
(C) "d" @4 (D) '] Q6

57. QIF SNIQ ASEE PUGI CRERIT ?
(A)¥ @ B)8 &
)98 (D)9 @

58. "G00 6 “Fol’ 9090 99106 GAg 696 gRIES 40 ?
(A) 919 d6AIRIAG (B) ABAIRIRS
(C) AINIGY QRIS (D) QRN ARIRS

59. QAT Q97 U8R ANE G6% ?

(A) SRF BIRER ERGR! (B) AR 9F B FQ 629

(C) WA ERIFIR 629 (D) 671 661613 cdq
geQie KES

60. SIRISY 6ATER 6QG FAYIAR § ?
(A) 6AQETINE GMYIAL (B) AINFS ARYIAR
(C) ANQAT @V FRYAR (D) GLIEIS! DTS



PART -B
Language-I — Telugu

IS,  POVBID, T, LA, WA
DEJVEN A DD DAFTGEIVLD TR
TEDEDN D, T, ArLHIwr 009DDVS
AWaHg s & Fooy Hoswdo. &
SrGODS AT Do, ohdw wIG Fod I
SORAG. VoI, SRORPHRADE) ARG
SErDRAD DOV G 288 Do
DDYDENRD. FFR(BR000 DEWed DTLDDA
5260, DDVSPOD J8 AAHRD Hodarusosain
& 2785 Do, & e.;:eéb TR (odanu
RB3D POEs B0DBc0y 0. FLPHrI0 DAJW
STV P Tocod) S0y VoHISRHG. 6
DEPRAVOID, e3dHod HOAVLEDH SIS
DG G DOD DeVIJUWN. BUREERANTD
SOEE0L  DAWEEDVIE  DIrSrnd L.
e e85 0D HAREE DA D00 DGV, &DEF
VOBV wojochtdD. A CoRod &,
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b8 D2EAE 02py spyZ |
OREARA0 DIEAU 202090 2B
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DoE UdE2Z UZpaG 1

PROJ8U 02028 bOINIRZESD)
02.370 22022 320U81288 |
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03/92 QWILIR NAZHAE I

40. 'BE202GZ YLD LBNAE —EBIZ ‘@D’
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(A) 0BEDE To.R7L 0).323.
(B) GAL.ED. LH.DAL 8).38).
(C) WIEgR Lok a.39).
(D) D2EZ22 TP.IAL .49,
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[25]

43, 9b9) €9 UDINE GHBRVE DIRIE
28.Eb3). bZLT ?

(A) 2

(B) 9bd

(C) 2EALD

(D) &Wd
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Read the followin
nos. 61-69,

In what was surely an understatement, 2023 physics
laureate Anne L' Huillier described herself “a httle bit busy”
when Adam Smith reached her a couple of hours after she
had received the news, In this brief call, she describes how
special it feels to receive the prize and how her research into
the overtones of light, which she revealed in the 19805,
continues to excite ler,

Interview transeript:

Anne L' Huillier : Hellp?

Adam Smith © Hello, this is Adam Smith calling from
nobelprize.ore, am | speaking with
Anne L' Huillier?

© Yes, but I am 4 little bit busy now,

¢ Lean well imagine. and [ promise nol to
keep you on the phone for more than two
or three minutes,

: 10k,

-

: Thank you very much. 1 gather that you
were teaching when you heard that you
had won the Nobel Prize and I Just
wanted to know what your students
thought of this news?

: 1 think they were very happy,

& passage carefully and answer Question

Anne L' Huillier
Adam Smith

Anne L' Huillier
Adam Smith

Anne L' Huillier

Adam Smith : Of course,
Anne L' Huillier : It was really fun, let's put it this way!
Adam Smith . Tt must have changed the lesson,

Anne L' Huillier : Yes, but I tried to, 1 continued my
leeture.
. That shows tremendous presence of
mind. I gather that it must all be a fairly
overwhelming thing to happen. and
you're deluged. But 1 supposc, | mean,
I recall that you were on the Nobel
Committee until what, 2013, so you
know all the behind the scenes stuff, you
Lnow what led to this. Does that, in some
way, make it even more special that you
know how...
Yes, ves, it definitely does and T know
what is it to get a Nobel Prize, it's
extremely difficult, and T know the work
behind, which is done by the commitiee,
so 1 am very, very grateful.
: Of course, may I just ask you about the,
you know, just about the thl'ill of
studying these sort of secret slides of
light, the avertone you're able to create,
It was alimost forty years ago, .I guess,
that you were switched on lo lh,]s‘. What
is it that makes it just so thrilling to
stucly?
This is a basic research, I don’t know,
this was new, il was nol expef:tcd. and
not predicted. The understanding, took

Adam Smith

Anne L' Huillier :

Adam Smith

Anne L' Huillier :

[27]

‘some time, took several years, So it was
very interesting to study and to try to
understand more, and then later on,
many years after, look for applications
and explore new things with it.
t It seems such a wonderful combination
of the head and the hands, if you like,
the complexity of the theory and the .
practicality producing these exquisitely
sensitive pieces of apparatus.
Yes, I mean this is what makes the field
$0, 50 exciting and even now, thirty years
afterwards, we are still learning new
things, we are still trying (o improve the
process in order for some applications,
50 it is complex physics, but that makes
it very, very interesting.

Adam Smith

Anme L' Huillier :

Adam Smith : Of course, thank you very much indeed,
and thank you so much for speaking to
me in the midst of “all this.
Congratulations again. :

Amne L' Huillier : Thank vou!

61. In the brief telephonic conversation, Adam Smith
stated that Anne L' Huillier must have felt that—
(A) itis a regular humdrum affair to receive the prize
{B) she was overwhelmed an receiving the prize
(C) receiving the prize was a very mundane affair
(I} receiving the prize made her feel disturbed

62. “..it was not expected and not prediclr.ﬂ.” Choose
the correct alternative for the above expression—

(A) It was neither expected nor predicted
(B) It was unexpected and predicted

(C) It wasn't expected but predicted

(D) It was either expected or predicted

63. ‘Deluged’ as given in the passage is a/an—
(A) verb (B) adverb
(C) preposition (D) interjection

64. 1 recall that
the eorrect alternat
should read as—

(A) Itis being recalled by
Commitlee

(B) It was being recalle
Nobel Committee

(C} It is recalled by me that
Committee

(D) It was recalled
Committee

you were on the NnbeI'Committee.”
ve of voice change of the given line

me that you are on the Nobe] -
d by me that you were on the
you were on the Nobel

by me that you are on the Nobel
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65. ‘Overtone’ as used in the passage refers to—
(A) any frequency Jower than the fundamental frequency
(B) any frequency higher than the fundamental
frequency
(C) any frequency equivalent in range to the
fundamental frequency
any frequency that is not at all related to the
fundumental frequency

(D)

66. “... explore new things with it Exploration -based
learning helps children learn through—
(A) excursion (B} reflection
(C) rote memorisation (D) curiosity and inquiry

67. StatementI : Tunderstand that you were taking a
class when you heard that you have
reccived the Nobel Prize,

I comprehend that you were
teaching your students when you
learnt of having received the Nobel
Prize.

(A) Statements T and 11 are false

(B) Statement 1is false and Statement II is true
(C) Statements I and IT are true

(D) Statement 1 is true and Statement I1 is false

Statement I1:

68. The phrase ‘behind the scenes’ refers to work
done—
(A) publicly
(C} surreptitiously

(B) overtly
(D) unreservedly

69. ‘It seems such a wonderful combination of the head
and the hands.” Use of head and hands pedagogically
refers to—

(A) rote learning
(C) learning by thinking
and doing

(B) learning by thinking
(D) learning by doing

Read the following passage carefully and answer Question
nos. 70-79.

There was once a herdsman, a lad of 14 years, who
grew bored while watching over the village sheep. He wanted
to make things more exciting. Sa, he yelled out that wolves
had come over and were attacking the sheep. All the villagers
came running (o drive the wolves away. However, on arri ving,
they spotted no wolf. The lad was amused but the villagers
were not. They told him not to do it again. Shortly after, he
repeated this antic. The villagers came running again, only to
find that he was lying hlatantly. This made them furious and

they left, warning him of dire consequences.

[28]

A few days later, the lad actually spotted a wol
sneaking amangst the flock. He jumped up and called out for
help. But none turned up because they felt that he was 511"1]
joking and trying to fool them. A_t sunsel, when the lad dig
not return, the villagers started looking for the boy. They foung
him sitting on a hillock, erying dejectedly. He told them that
a wolf had reall y come and attacked the lsheep. An old man
came forward to comfort him and lD].Il him that none would
believe a liar even when they were being honest. And the liar

has to beadr the brunt of his action.

70. The herdsman tried ta fool the villagers hecauge___
(A} he wanted to disturb them :
(B) he wanted to derive some fun

(C) he wanted company
(D) he wanted to show them how careful he was

13

71. Statement I : Noonerushed tothe lad’s aid as they
felt he was fooling them.
Statement II: No one turned up to help the lad as
they were tired of his antics.
(A) Statements I'and II are true
(B) Statements I and I are false
(C) Statement [ is false and Statement 11 is true
{D) Statement I is true and Statement 11 is false

72. ‘Antic’, as referred to in the passage, means—

{A) land behaviour (B) optimistic behaviour

(€) foolish, outrageous or (D) pessimistic behaviour
amusing behaviour

73. ‘finding something or someone’— The phrasal verb
for the quoted expression is—
(A) calling out (B) looking forward
(C) yelling out (D) looking for

74. ‘inanopen and unashamed manner’—
as used in the passage, means—
(A) dejectedly (B) actually
(C) blatantly (D) really

This phrase

75. “None turned up because they felt that he was still
joking:” is an example of a—
(A) Simple sentence
(B) Complex sentence
(C) Compound sentence
(D) Double sentence

76. The moral of the story is—
(A) Da not believe cowboys
(B) None disbelieves a liar
(C) Liars are always successfil
(D) Liars are always exposed
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77. The villagers hoped that their warning would
dissuade the lad, If the above sentence is rewritten, without
altering the meaning what will be the correct option?
(A) That their wamning would dissuade the lad is
what the villagers hoped '

(B) That their warning will dissuade the lad is what
the villagers hoped

(C) That their waming would dissuade the lad was
what the villagers hoped

(D) That their warning might dissuade the lad is
what the villagers hoped

78. “... a wolf sneaking amongst the flock.” ‘Flock’ is
al an—
(A) Common Noun
{B) Collective Noun
(C) Proper Noun
(D) Abstract Noun

79, “An old man came Forward to comfort him.”
‘Comfort’, as used in this line, can be replaced with—
(A) console (B) combat
(C) congratulate (D) compliment

80. A scoring guide, used to evaluate the quality of
students is called—
(A) Rating scales
(B} Checklist
(C)} Inventories
(D) Rubrics

81. Dyslexia is a learning disablity that ncgatively
affects the understanding abilities in terms of—

(A) Reading

(B) Oral language

(C) Sign language

(D) Dialect

2. Which evaluation is done by the teacher during the
process of learning? _
(A) Summative evaluation
(B) Term-cnd evaluation

(C) Product evaluation
(D) Formative gvaluation

83. Effective learning in a classroom situation takes

place when the learners are—
(A) passive
(B} able to score high marks
(C) interactive
(D) fuent in the language

[29]

84. Writing the title of a story on the blackboard, the
teacher asks the class to guess what the story is about.
She/He does this to—

(A) improve students’ vocabulary
(B) make the story less interesting
(C) let the class guess the content
(D) let the class guess the word meanings

85. When young learners are faught to improve their
spelling and punctuation, they will—
(A) improve their accuracy
(B) nurture their creativity
(C) sharpen their listening skills
(D) enhance their fluency

86. ‘Study of meaning’ in a language is known as—
(A) semantics
(B) syntax
(C) linguistics
(D) Imnrphulogy

87. English language has consonant sounds.

(A) 24
(B) 25
(C) 26
(D) 27

88. The purpose of CCE in learning English as a second
language is—

(A) to administer weekly tests

(B) to assess the leamers’ understanding of the
textbook

(C) to assess their learning gaps and help learners
achieve the expected learning outcomes in
both scholastic and co-scholastic areas of
knowledge

(D) to assess their learning gaps and help learners
achieve the expected learning outcomes in only
the scholastic areas of knowledze

89. ‘Pedagogical grammar’ means—
(A) teaching of grammar from form to use
(B) teaching grammar out of context
(C) teaching only the rules of grammar
(D) teaching grammur in context

90. A good piece of writing in English involves—
(A) incorrect punctuation
(B) ideas, presentation and coherence
(C) flowery language
(D) illegible handwriting
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91. Bakul has started reading a book of 4818 pages. In

three consecutive days she reads 23
73

part, 33 part and
23 219
146 part of the book respectively. The number of pages

of the book, left for reading, is—
(A) 1727 (B) 1738
(C) 1832 (D) 1742
92. Which one of the following is the closest estimation-

interval of [EJ 24
7

(A) 0428574126 < %{ 0-482571429
(B) 0498751426 < % < 0528571429
(C) 0-428571426 < % < 0428571429

(D) 0425874126 < % < -438251429

93. xis a natural number and for every digit of it, place
value and the face value are the same. Then for any whole

number y, the value of xy will be—
(A) 2y (B) <y
(C) =0oryv (D) =y
94. In the figure, A ABC, A DEF and all the
6 small identical triangles are equilateral.

The ratio of the area of the quadrilateral PDES to
that of hexagon PQRSTU will be—
(A) 1:1 (B) 15:16
(C) 6:5 (D) 5:6

95. If a number (natural) be divided by 893, the
remainder is 198, The remainder, when that very number
is divided by 47, is—

(A) 38 (B) 10
(C) 17 (D) 05

96. The two numbers, both of which are greater than
29 having 29 for their H.C.F. and 4147 for their L.C.M.
are—

(B) 319 and 377

(A) 377 and 406
(D) 261 and 319

(C) 203 and 261

[30]

Bengali Version

91. wdslsﬂmwﬁa’aﬂwwmmwﬁqﬁq
o2 natwm 24 we, 34 wot e ——W'f‘“"tﬁml

7 219 146

F2foe meufE #iet e aifs dite ofa Al 28— i
(A) 1727 (B) 1738 W

(C) 1832 (D) 1742 .

3
92, FmfEfReafEm g AT (?) -7 F=bew s
Loop CRL e |
(A) 0428574126 < 3;- < (0-482571429

(B) 0498751426 < %f: 0528571429

(C) 0428571426 < —?_3- < 0:428571429 o)

il
(D) 0-425874126 {% < 0-438251429 v

93. x «=fAreIia® AR urw ererat T B W e e@?aiﬂ

ﬂﬁmiﬂtﬁmmﬂmmﬁmﬂamnﬂmm—
A) =y (B) <v
(C) =ﬂ‘579r'¢]}’ D) =y

94. =iwx 613 A ABRC, ﬁDEFﬂﬂaﬁﬁﬁmmtwl%ﬂ
ﬁﬁsﬁ@ﬁmﬁ‘gﬁl

PDES 53$tem cwarme @ PQRSTU ¥estea oragte

E TS ZLA—
(A) 1:1 (B 15:16
(C) 6:5 (D) 5:6

198 | AT 47 Wit s15t wweer wiorory 7—
(A) 38
(©) 17

95, = i (wrerfa) sgawmmmmw i
!
J

(B) 10
(D) 05

96. 29T TG4 4f5 T 415119, 20 @@=t a, 41471
HR1 o T— .

(A) 377 @ 406

(C) 203 @R 261

(B) 319432 377
(D) 261 9= 319
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97. Following arc some questions asked by the teacher
in the mathematics classroom:
~(I) Whatis the area of the rectangle whose one side is
S con and perimeter is 30 cm.?
(II) Find a set of numbers whose mean is 5.
(HT) List all prime numbers hetween 0 and 20.

(IV) Tell me the mathematical information you know
about rectangles.
Which of the following is correct?

.y (A) (I), (IT) and (II) are close ended and (I'V) is open
ended question

(B) (1) is close ended and (I1), (IIT) and (TV) are open
ended questions

(C) (1) and (IMI) are close ended and (1) and (IV) are
open ended questions

(D) (I) and (II) are close ended and (IT1) and (IV) are
open ended questions

98. Thelength of a rectangle is preater than its breadth
by 4 cm. and its area is X em?. If the length be decreased
by 2 cm. and the breadth be increased by 2 em., then the
new rectangle formed is of area ¥ em? Then—

(A) X<V (B) X<¥
(C) X=Y (D) X=Y

99, There are some statements given below:
(I) Multiplying a number by another always increases
its value.
(II) Dividing a number by another nonzero numher
always decreases its value.
(II1) A number multiplied by 10 always has a zero at
the unit place.
(TV) Multiplication is the inverse process of division.
Identify the correct option—
{A) (I)and (1I) (B) (III) and (I'V)
(C) Only (111) (D) Only (IV)

100. A fraction is equivalent to 5/8. Twice its numerator
and the denominator add up to 414. Then the difference of
the denominator and the numerator of the fraction will be—

(A) 14 (B) &9
(©) 23 (D) 46

101, The maximum number of trees which can be
planted 20 metres apart on the two sides of a straight road
1760 metres in length are—
(A) 178
(C) 180

102. x and y are two whole numbers with x <y. Then,
H.C.F. of x and y will be—
(A) > xalways
(C) <xalways

(B) 176
(D) 174

(B) »>x fqr some special cases
(D) <xalways

[31]

Bengali Version
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103. If93P25Q is divisible by 88 then the value of P and

Q respectively js—
(A) 2and8 (B) 8and?2
(C) 6and8 (D) 8and6

104. At wl‘mt level of Van Heile’s spatial/ geomelrical
understanding, a child is likely to accept that a square is
also a rectangle?

(A) Leve!ﬂ(‘-’isualiznlinnj (B) Level 1 (Analysis)
(C) L.evcl?{RelannshipJ (D) Level 3 (Deduction)

105. p’(>2) is a prime number. Then H.C.F. of
(+1)and (p - 1) is—

(A) =1 (B) =1
(©) =22 D) =2

106. In the following pattern

the missing term is—
(A) 210 (B) 184
(C) 425 (D) 241

107. In dividing 2 number by 1001, a hoy employed the
method of short division. He divided the nummber by 7, 11
and 13 in succession and obtained the corresponding
remainders 5, 6 and 7 respectively. The complete remainder
when the number is divided by 7 x 11 x 13 is—

(A) 539 (B) 586

(C) 581 (D) 544

108. The sum of the numbers of prime factors of 1540,
21450, 1111 is—
[The factors may not be distinet]
. (A) 12 (B) 7
(©) 11 (D) 13

109. The product of two whole numbers is 552. The

smallest possible sum of these numbers is—
(A) 38 (B) 98
(C) 553 (D) 47

g [32]

Mathematics

Bengali Version
103, =i 93P25Q, 88 arat faerey 20 @tz P @3¢ Q- apy

TATEFTA—
(A) 2438 (B) 8was 2

(C) 6438 (D) 8«2 6

104, =% (23 B/ wiffes @ @R 9 o
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110. 110
I 1 2 6 421 9 il U 1 ‘. 6 42 1 7
Entry in the sixth box is— W AT ARt m—
(A) 1806 (B) 1764 (A) 1806 (B) 1764
(C) 462 (D) 378 (C) 462 (D) 378

111. Subitizing plays an important role in developing the
number sense. Which of the following is an example of a
learner demonstrating the skill of subitizing?

(A) Learner recognizes the number 6 as | added to 5

(B) Learner recognizes the number 4 as the number with
| taken from 5

(C) Leamner rolls an unbiased die and is able to say it is
four without actually counting the dots
() Leamer recognizes the number 5 as the suceessor of 4

112. A wire is to be sold in multiple of 1 metre.
A person needs some pieces of 85 em. The minimum length
of wire when loss is minimum is—

(A) 17m (B) 1m

(©) §5m (D) 85m

113. Which of the following is not a mathematical

process? N
{A) Visualising (B) Mcmunslng
(C) Estimating (D) Transposing

114. The number of days in the 18th century was—
(A) 36525 (B) 36524
(C) 36625 (D) 36624

115. 2 of one centimetre indicates—
(A) 30 millimetres (B) 3 decimetres
(C) 3 millimetres (D) 0-:3 millimetre
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116. Match the following in List I with those in List 17
and choose the appropriate code—
Lise 1
(a) Galileo

List [T

(i) Mathematies is the gateway and

key to all sciences.

(b) Bacon (i) Mathematics is the language in
which God has written the
universe,

{c) Aristatle (i) Mathematics is a way lo setile

in the mind of children a habit

of reasoning,
(d) Locke (iv) Mathematics is the science of
quantity.
(a) (b) (©) (d)
(A) (ii) (i) (iv) (iii)
(B) (i) (iii) (iv) (ii)
) (i) (i) (iit) (iv)
(D) (iii) (1) (i1) (iv)

117. PPy Py oy P, are ‘n’ natural numbers which are
not composite and none of them js 2.
Given: 1 + P'PyPyvp, = prime
then,p, +p, +P, et p =
(A) nxn (B) 2n
(C) n () n=1

118. “The sum of any two whole numbers is a whole
number’— This property of whole numbers is referred
to as—
(A) Commutative property
(C) Distributive property

(B) Associative property
(D) Closure property

119. Whatis the correct sequence a teacher needs to follow
to explain the concept of a ‘Quarter’ (44} in class 11?7
(i) Showing pictures representing ‘a quarter’
(ii) Providing concrete material abjects and dividing
them into ‘quarters’
(ii) Writing the symbol of a quarter on the blackboard
(A) (i) — (i) = (i) (B) (i)— () — (iii)
(C) (i) — (jii) = (i) (D) (i) = (iii) —» (i)

120. The perimeter of a triangle is 12 ¢m. in length,
where the measure of all the three sides (inem.) are natural
numbers. How many such different triangles can be
formed?
(A) 2
(C) 4

(B) 5
(D) 3

[34)]
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121. Which of the following statements is correct?

(A) Migration of animals is not related to
environmental temperature

(B) Migration of animals is related to aggreeation for
reproductive purpose i

(C) Migration of animals is related with abu ndance of
oxygen

(D) Miﬁgmtion of animals is related to proving which
animal runs ar what speed

122. In which of the following phases, surface water
temperature phenomenon of ENSO (El-Niifo Southern
Oscillation) of equatorial Pacific Ocean is called El-Nifio
phase?

(A) Cold phage

(C) Warm phase

(B) Normal phase
(D) Freezing phase

123. Which of the following animals is a detritus feeder?
(A) Rabbit (B) Lion
(C) Pigeon (D) Vulwre

124. Identify the least harmful direct threat for marine

ecosystem—

(A) Changes in air quality index (B) Oil spill (sea surfuce)

(C) Microplastic pollution (D) Rise in ocean
lemperalure

125. Which of the following animals is a benthic
invertebrate?
(A) Small shark
(C) Flatfish

(B) Seaanemone
(D) Sea horse

126. Being an EVS teacher you have organised a debate

regarding causes for endangeredness of different animal

species. Learners expressed their views. Now at the end

of the debate, definite causes are ascertaived behind the

depletion of the population of Royal Bengal Tiger,

One-horned Rhinoceres, Gangetic Dolphin, Sarpagandha

and Polar Bear. Which of the following sequences is the

most appropriate option?

(A) Climate change and global warming, Poaching, Habitat
destruction, Over-exploitation, Pollution

(B) Pollution, Over-exploitation. Climate change and global
warming, Habitat destruction, Poaching

{C) Over-exploitation, Habitat destruction, Poaching,
Pallution, Climate change and global warming

(D) Habitat destruction, Poaching. Pollution, Over-
exploitation, Climate change and global warming

[35]
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127. What was India’s per capita electricity consumption
in 2021-2022 financial year?

(A} 800 kWh (Kilowatt-hour)

(B) 555 kWh (kilowatt-hour)

(C) 950 kWh (kilowatt-hour)

(D) 1255 twh (kilowatt-hour)

128. Animals and plants that contain genes intro¢uced
from other Species are known as—

(A) hybrid

(B) transgenic
(C) plasmid

B} semi-hybrid

129. During online classes, how will an EVS teacher he
able to aAppropriately teach visually challenged students?
(i) By sharing voice messages

(ii) Using lots of oral explanation

(iii) By peer explanation

(iv) Using concrete experience

CA) (1), (i) and (iii)

(B) (ii), (iii) and (iv)

(C) (i), (11i) and (iv)

(D) (i), (11), (iii) and {iv)

130. Which of the f ollowing chemicals can be considered
as ‘green solvent’?

(A) Chlorofluorocarbons (B} Benzene
(C) Anthracene (D) Supercritical carbon dioxide

131. Which one of the following environmental issues
does the book ‘Silent Spring® written by Rachel Carson
describe?

{A) Global warming (B) Harmful effects of pesticides
(C) Noise pollution (D) Air pollution

132, The loose material produced during weathering of
rocks may become consolidated, this process is known as—
{A) lithification (B) nitrification
(C) sedimentation (D} humus formation

133. In which of the following years 21st CoP
(Conference of Parties) Climate Change Conference was
held in Paris (France)?
(A) 2015
(C) 2021

(B) 2014
(D) 2009

Bengali Version
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134, H}’dl‘ﬂp onics

is the technique of
which one of the following conditions?
(A) Nutrient-less condition

(C) Soil-less condition

growing plants in

(B) Air-less condition
(1) Water-less condition

135. How much carbon dioxide gas is released into the
atmosphere to produce 1 (one) unit electricity from coal?
(A) 091 -0-95 pound (B) 2-3 pound
(C) 001 -0-02 pound (D) 8- 10 pound

136. Read the following statements and choose the
correct oplion—

Assertion (A) : At the primary level, EVS has

themes instead of topics.

t Theme-based EVS learning
diffuses subject barrier and
promotes integrated approach
which is easy for teachers and
learners as compared to topics.

(AJ1s false, but (R) is true

Reason (R)

(A)
(B) Both (A) and (R) are true and (R) is the correct
explanation of (4)

Both (A) and (R) are true. but (R) is not the
correct explanation of (A)

{A)is true, but (R) is false

(€

(D)

137, Which of the two following brain centres act as
Global Positioning System (GPS) in humans?

(A) Hippocampus and Entorhinal Corlex
(B) Pons and Medulla

(C) Qceipital lobe and Parietal lobe

(D) Frontal lobe and Cerebellum

138. Which of the following is the first Biosphere Reserve
in India?

(A} Sundarban Biosphere Reserve

(B) Great Nicobar Biosphere Reserve

(C) Nilgiri Biosphere Reserve

(D} Panna Biosphere Reserve

139. A teacher is demonstrating different types of bone
joints to her/his learners with the help of a skeleton, Now
she/he points out the ball and socket joints at diﬂ'er:ent
anatomical regions of the body. Identify the anatomical
regions—

(A) Knee and Elbow (B) Ankle and Wrist

(C) Skull and Vertebral Column (D) Hip and Shoulder

Environmental Studies

Bengali Version
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140. Being an EVS teacher you have organised  field
trip in some regions of Sundalang Diodiversity Hotspot
Rl dwulls‘w about endangered flora and fauna. Now
Students interacted dmong themselves and reduced their

learning £aps. Which of the # i .
i ollowing is true regardin
Sundaland Hotspot? = : i

GEocrarg LAUN
P CAL FLoga Fauna
(A) hrf:zumnl Orchid irrawaddy Dolphin
(B) Sikkim Rhododendron Red Panda
(C) Tamil Nady Cardamom Lion-Tailed
Macaque
(D) Nicobar Islands Rafflesia Orangutan

141. Tdentify the scenario not directly causing ongoing
anthropogenie loss of Species diversity denoted as the *sixth
mass extinction’™—

(A) Paollution caused by harmful chemicals

(B) Global warming

(C) Reduced natality rate of species

(D) Loss of natural habitat

142. Identify the incorrect statement regarding
microplastic—
(A) Microplastics have been detected in human blood
(B) Polyethylene (PE) present in toothpaste and
polyethylene terephthalate (PET}) present in lipgloss
are examples of microplastics
(C) Microplastics can be bio-accumulated along the food
chain
(D) Microplastics are easily bio-degradable substances

143. Carbon monoxide (CO) is—
(i) a greenhouse gas
(ii) a polycyclic aromatic hydrocarbon
(iii) a component in determining Air Quality Index
(AQD
(iv) a Volatile Organic Compound (VOC)
Choose the correct answer from the options piven
below—
(A) (1), (ii) and (iii)
(B) (1), (ii1) and (iv)
(C) (iii) only
(D) (i), (iit) and (Gv)

[38]

Bengali Version

e Rt/ s Rome qug

1;‘1' Sy ZBPICE G 76 St ey m@:m’“h
Wmtmﬁwwﬁﬁﬁmwm
aa frrm Bt Foemm i saifas Wﬁﬁmmﬂﬁ
WWW|WM%%W@%?
o

CECAHET ol S oy, 1

(A) TSN i

B) R AIGAG G o1
(C) SifFEArg il ﬁﬁﬁ% i
(D) e Sodg @R ey

gt v wbw1 1 T At Re e oo, o
(A) =lesias apiafFs Fme e
(B) Frd Beergm
(C) =&l erqzr o areat
(D) =gies amee Haw

(A) ST e Ao wqie =1 TS
(B) ¥m=awiem (Ro=i25) Beifs ~RRAE (PE) wx O
AT Brotelel Bofirs wifeafafem (erams (PET)
T WL S i
(©) = T2 Ao Aoy 7o Au
(D) TR AT u T (Y- 9

143. =17 Wemmies (CO) g
() 9% Bmzres sim
(i) =6 2 it 2z
(i) 9w i Ty (AQI) Fom =t w2l T
(iv) «=f% Barftt vwre iy (VOC)
eea wfde fagh Frten m—
(A) (1), (i) @ze (iii)
(B) (0, (1) @2 (jv)
(C) ey (i)
(D) (i), (i) @z (iv)



PART-LE
Enyvironmental Stiedies

English Version
144.' Which one of the following toxins produces red tides
mediated Paralytic Shellfish Poisoning (PSP) in humans?
{A) Saxiloxin (B) Aflatoxin
(C) Bungarotoxin (D) Botulinum toxin

l:-#.'.’nti Air pollution resulting from voleanic eruption can

e detected by measuring which one o i

st f the following
(A) Sulphur dioxide
(C) Scandium oxide

(B) Strontium oxide
(D) Stannic oxide

146. jWhith onc of the following arrangements remove
organic matter from wastewater?

(A) Trickling filters (B) Settling tanks
(C) Carbon filters (D) Reverse osmosis

147. Which one of the following is an anadromous fish?
(A) Cyprinus (B} Hilsa
(C) Rohu (D) Eels

148. Identify the scenario not associaled with algal

bloom—
{A) Death of fish (B} Release of algal toxin

{C) Change of ocean current (D) Depletion of oxygen

149. Which of the following chemical compounds is
responsible for ozone hole formation in polar regions

(Stratosphere)?
(A) Ethane (B} Chlorpyrifos
(C) Propanc (D)} Chlorine nitrate

150. Beingan EVS teacher your intention is to familiarise
rocks and minerals to your learners. Now one inquisitive
learner asks you what element is present in most of the
rocks and minerals? The teacher’s probable response will
be—
(A) Aluminium
(C) Carbon

(B) Hydrogen
(Dy Silican

g OO

Bengali Version
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